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HEXSHO 2 kT (sample_programl. f90 d45l)

/p=10"4 [m¥/s]
Uin=0.1 [m/s] Po=0 [Pal g=p1000 [kg/m3]

T :

L=1 [m]
BERFM
Inlet u=U,, v=0 for explicit terms (ut, v*).
op o o
e 0, u=U,  for implicitterms (pressure — continuity eqs.)
x
ou .
Outlet . =0, v=0 for explicit terms (u*, v*).
x

p=p,, V-v=0 for implicitterms (pressure — continuity egs.)

Wall u=0, v=0 for explicit terms (u*, v*).
op N o
6_ =0, v=0 for implicit terms (pressure — continuity egs.)
y
ou ..
Symmetry e 0, v=0 for explicit terms (u*, v*).
Y
op o o
—=0, v=0 for implicit terms (pressure — continuity egs.)



HEXNRQ EEMEFHLYD 2RTHEN  (sample_program2. f90 M)

E RN 2=20 1/p=104[m2/s]
: Ty A ne p=1000 [kg/m?]
e i $
I Pout=0
Uin=0.05 [) $ H=0.1 L] nn=10
[m/s] E EZZE > [Pal
- P x
: L=0.1 [m]
i e - -- nl=20
| ml=20 mm=10  m2=50 (yE
: s 2
R S
Inlet u=U,, v=0 for explicit terms (u*, v*).
op o o
e 0, u=U,  for implicitterms (pressure — continuity eqs.)
x
ou .
Outlet p 0, v=0 for explicit terms (u*, v*).
x

p=p,,, V-v=0 for implicitterms (pressure — continuity egs.)

Wall u=0, v=0 for explicit terms (u*, v*).

a—p:O, u=U, or

—=0, v=0 for implicit terms (pressure — continuity eqgs.)

(sample_program3. f90 M)
ml1=20 mm=10 m2=70 , nl=30 mm=10 n2=30
Uin=0.1 [m/s] WA

<Lesson 8 FELAET0Z I LLHBEBRICOVWTUTEZ®RNNT >

Fortran 7’11 7' . (sample_program.f90) % %%&|Z
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